Typo for 3 TR4 Chapb

a) pl06,line 5:
Now if the angular velocity of this rotating phasor changes,

b) pl08, Eq. (5.9):

s(t) = Acos {w.t + msinwyt}
= A [cosw,t cos(msinwyt) — sinw.t sin(m s sin wyt)]

— Re {Aejmf sinwotejwct} (1)

¢) pl08, Eq. (5.10):
1 ™
Cp = —

2

ej(mf smx—nz)dw

d) p109, Eq. (5.14):

s(t) =A{Jo(my) cosw.t + Ji(my)| cos(w, + wp)t — cos(we — wp)t]
+ Jo(my)[ cos(we + 2wp)t + cos(we — 2wo)t] + -+ }

e) pl09, Eq. (5.17):
_do;  d

b= S = St + ()] = wie+ (1 2)

f) pl113, Figure 5.5
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g) pll4, Eq. (5.24): If w,, < Aw, then

h) pll4, Figure 5.6
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i) pl14, line 5 from the bottom: the modulation index m; will be given by f“

j) pl14, last line:

W =2(75 4 2 x 15) = (2.8 x 75) kHz ~ 210 kHz

k) p122, Eq. (5.40):

spu(t) = ARe [(1 + jmo sin w2t)ej‘“ct]

1) p128, Figure 5.13
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